INSTALLATION AND OPERATING INSTRUCTIONS

Heated Display Cabinets

INTENDED FOR OTHER THAN HOUSEHOLD USE
Models: PD'4 & PTD'4

RETAIN THIS MANUAL FOR FUTURE REFERENCE

0 FOR YOUR SAFETY: Do not store or use gasoline or other flammable ﬂ

vapors and liquids in the vicinity of this orany otherappliance.

WARNING: improper installation, adjustment, alteration, service or

maintenance can cause property damage, injury or death. Read the Installation,
Operating and Maintenance Instructions thoroughly before installing or servicing

this equipment.

This equipment has been engineered to provide you with year round dependable service
when used according to the instructions in this manual and standard commercial kitchen

practices.
BAKERS PRIDE OVEN CO., INC.
30 Pine Street
New Rochelle, NY 10801
+1(914) 576-0200 Phone US & Canada: (800) 431-2745
+1(914) 576-0605 Fax Web Address: www.bakerspride.com

e-mail Address: Info@bakerspride.com



Information
THIS MANUAL SHOULD BE RETAINED FOR FUTURE REFERENCE

CAUTICN
These units are designed, built and sold for commercial use only. Only persons
trained and familiar with proper use should operate them. They are not
meant for operation by the general public under any circumstances.

IMPORTANT
We strongly recommend having a licensed electrician instal! this equipment.
The electrician should be familiar with all local and national electrical codes.

WARNING: CHECK THE DATA PLATE ON THIS UNIT BEFORE
INSTALLATION. CONNECT THE UNIT ONLY TO VOLTAGE AND
FREQUENCY LISTED ON THE DATA PLATE. CONNECT 1 OR 3 PHASE
AS LISTED ON THE DATA PLATE.

WARNING: ELECTRICAL AND GROUNDING CONNECTIONS MUST
COMPLY WITH THE APPLICABLE PORTIONS OF THE NATIONAL
ELECTRICAL CODE AND/OR OTHER LOCAL ELECTRICAL CODES.

WARNING: DISCONNECT ELECTRICAL POWER SUPPLY AND PLACE
A TAG AT THE DISCONNECT SWITCH INDICATING THAT YOU ARE
WORKING ON THE CIRCUIT.

Install per spacing requirements listed in the installation section of this manual.
We strongly recommend having a competent professional install this
equipment. A licensed electrician should make the electrical connections
and connect the power to the unit. Local codes should always be used
when connecting these units to electrical power, use the latest version of the
National Electrical Code. '

WARNING: IMPROPER INSTALLATION, ADJUSTMENT, ALTERATION,
SERVICE OR MAINTENANCE CAN CAUSE PROPERTY DAMAGE,
INJURY OR DEATH. READ INSTALLATION, OPERATING AND
MAINTENANCE INSTRUCTIONS THOROUGHLY BEFORE
INSTALLING OR SERVICING THIS EQUIPMENT.

Maintenance .and\repair should be handled by a factory authorized
agent,




TABLE OF CONTENTS

General Information .........cewvesereeeeenee e e 1
Electrical RAtINGS ....oeveerverrrrecrsemeriesimissssssssssisssssssessessssssssinnes 1
INSEAHAION ceeeeeeee ettt eeasiss s ss s sssssncsen 2
OPEIALION vt st ae s arasasees 2
ClEANING ettt st b 2
MAINTENANCE cevevierieeeere e e re s eeseresteesbesrassna s s s e sanssesassessane 2
Parts LiSt..ooeeeriieeeererreriereeesnnesecsesseesuiiessssensssans s 3-4
Parts Breakdown ... sssssssssssens 5-7
WIiring DIagram .. ecceeceerecrcrnnntinnineninienenssssnnssssssssssas. 8

WEITANTY cevreerrniersinassssessssasensesssssssessssssssssesssssnssassssens Back Cover



General Information
General Installation

-Always clean equipment thoroughly before first use. .
(See general cleaning instructions.)
-Check rating label for your model designation and electrical rating.
-This unit can be used with the legs supplied or by sealing this unit to a counter
top.

General Operation Instructions

-All foodservice equipment should be operated by trained personnel.

-Do not allow your customers to come into contact with any surface labeled
"CAUTION HOT"

-Where applicable, never pour cold water into dry heat units.

-Where applicable, do not cook, warm or hold food directly in bottom of unit.

Always use racks and pans.

-NEVER HOLD FOOD BELOW 140 DEG. F.

General Cleaning Instructions

-Never clean any electrical unit by immersing it in water. Turn unit off and allow it to
cool down before surface cleaning.

-Always clean equipment thoroughly before first use. Clean unit daily. Except
where noted on charts: Use warm, soapy water. Mild cleaners and PLASTIC
scouring pads may be used to remove baked-on food and water scale on metal
units.

-Unplug electrical units before cleaning or servicing. All service should be per-
formed by an APW/ Wyott authorized service agency.

General Troubleshooting

Always ask and check:

-Is the unit connected to a live power source?

-Check circuit breaker.

-Is the power switch on and the pilot light glowing?

-Check the rating label. Are you operating the unit on the proper voltage? If the
above checks out and you still have problems, call an APW/ Wyott authorized
service agency.

DESCRIPTION, INSTALLATION AND OPERATION

Description
-These electrical units are designed for countertop operation. They are intended to
keep food warm, not for cooking or reheating.

ELECTRICAL RATINGS
-120 Volt, 60 Hz, 1 Phase, 10.5 AMP

OR
-220 Volt, 50 Hz, 1 Phase, 7 AMP



Equipment Set Up
Installation

This unit is shipped as a complete unit and does not require any field assembly
except for the supporting legs as if they are going to be used.

Install this unit on a counter top close to an outlet with the proper volts for the unit
you are installing.

This unit can be installed by sealing the unit to a counter top without the legs or by
installing the one inch adjustable legs provided for a portable unit.

Be sure not to block the louvers located on the sides of the cabinet.

NOTE :
Clean unit thoroughly before putting this unit into service.

Operation .

-Plug the power cord into a properly rated electrical outlet.
-Adjust the thermostats to the desired air and water temperature.
-Allow unit to stabilize before storing product.

NOTE
-NEVER HOLD FOOD BELOW 140 DEG. F.

Before First Use and Cleaning

-Before first use, clean using a non-corrosive, grease-dissolving commercial cleaner,
clean the protective metal oils from all the surface parts. Follow the cleaner
manufacturer's directions. Clean all the accessories, rinse and wipe dry the unit
and all accessories.

Cleaning
-Always allow the unit to cool befor cleaning.

Daily .

-Wash all exterior and interior surfaces at least once daily. Use a cloth with warm
water and a mild soap or detergent. A non-abrasive cleaner may be used to remove
discoloration's. Always rub in the direction of the polish lines on the stainless steel
finishes. Do not use steel wool. Pieces of steel wool will adhere to the stainless
steel and cause rusting.

Maintenance

-Follow general cleaning instruction.

-Disconnect electrical power supply.

-Clean the water pan by removing the units top panel (four screws), see illustration
on page 6, then loosen the air channel cover (six screws). Remove the water pan
cover (four screws) by sliding it out from underneath the air channel cover then lift
it straight up, the float switch and thermostat bulb are attached to this cover and
are easily damaged so use caution. Remove any mineral buildup from the thermostat
bulb and float switch. Remove mineral buildup from water pan. Replace the water
pan cover, tighten all screws on the water pan cover and the air channel cover.
Replace the unit top and replace the screws.

2



ltem Number Description Part Numbor
1 Display motor, 120 V 217215-51
220V 217215-52

2 Pizza Rack 21721545
Pretzel Rack 217215-46

3-Shelf Slant Rack 217215-47

4-Shelf Food Rack 217217-48

5-Shelf Food Rack 983620-20

3 Door bushing 217215-38
4 Class panel 217215-37
5 Cabinet top 217215-36
6 Door strike 217215-34
7 Hinge bracket 217215-33
8 Rear corner cover 217215-32
9 Front corner cover 217215-31
10 Heater retainer, water pan 217215-29
11 Air channel top 217215-28
12 Air channel weldment 217215-22
13 Water pan cover weldment 217215-18
14 Water pan weldment 217215-10
15 Clamp, 1/4" dia. 89804-00
16 Bushing, strain relief 89674-00
17 Magnetic catch 87177-00
18 Knob, thermostat 87055-00
19 Leg, 1" adjustable 86621-00
20 Decal, control panel 88090-00
21 Nut, #10-32 hex keps 84171-00
22 Nut, #8-32 acorn 84095-00
23 Nut, #8-32 hex keps 84083-00
24 Nut, #6-32 hex keps 84001-00
25 Screw, #10-32 x 1/2" truss head 81759-00
26 Screw, #8-32 x 1/2" flat head 81537-00
27 Screw, #8-32 x 3/8"truss head 81349-00
28 Screw, #8-32 x 3/8" type T 81300-00
29 Screw, #6-32 x 1-3/4" pan head 81139-00
30 Screw, #6-32 x 3/4" truss head 81101-00
31 Screw, #6-32 x 1/8" pan head 81073-00
32 Tape, double sided 1/4" wide 29710-00
33 Water fill 23283-10
34 Door assemble w/o strike 23283-00
35 Grommet 21263-00
36 Cordset, 16/3 15325-00



Parts List Cont.

Itemy Number Description Part Number
37 Indicator light, white-120 V 15206-00
220V 15208-30
38 Indicator light, red - 120 V 15205-00
220V 15208-00
39 Light bulb, 40 W - 120 V 15058-00
220V 15058-75
40 Lamp socket 15056-00
41 Heater, water - 120 V 14030-20
220V 14030-22
42 Heater, air- 120 V 1403000
220V 1403002
43 Switch, door 1327800
44 Thermostat 1327700
45 Switch, float . 13149-00
46 Relay - 120V 1313200
220V 13133-00
47 Switch, Power 13056-10
48 Blower, 75 CFM - 120 V 12168-00
220V 217215-71
49 Terminal block 11068-00
50 Tape, silicone seal 1/2" wide 10362-00
51 Sleeve, fiberglass 10009-00



of the stem to the top

@/ @/ be a maximam of 03"
\@ DOOR SWITCH

CONTROL PANEL DETAIL INSTALLATION

.
g AIR HOUSING
.  THERMOSTAT '
WATER PAN—. é‘// . e
THERMOSTAT 38/, 8/  EE88R i
Distance from the top
f







o -

gl
I
Terminals on this side —/
L)

WATER PAN ASSEMBLY

AIR HEATER ASSEMBLY

2% o vy
o \@ - o\
WATER PAN COVER @/ \o

GLASS UPRIGHTS DETAIL




SOAM = — _— \ ]
MOV e — LV.LS0OANN3IHL 1V NHIHL
HOLMS Iy NILVM xu&ﬁm 1_,
4004 1wen Eu: o ko [ H3m a.:_
; = — . ~ ! 7
T/— @ | _ ~I|\| .. ! | e
] N7 : 9 .
= @ z & M fﬁﬁl._\_rt .m Tl = g2 B |5
X..F po - A = P R 7
C @ pag: [ X —iLu N |
e E3 oy
! ﬁ | 5
\ ) m
ﬁ ] 4 :
5 =
- (g} -
HOLIMS | 3 LAY _wm. oY o Hmm
@!1veld (@ B i LHM @ o |m 2
= F = IFM) (= ._ = L o ~
S A= ﬂlIID L SL—t | WIE =
AVl 1 i e nig | - !J“QJ - =
N3LYIH TG T |l |8
{ gl HILYM F Dw.rm—llldﬂ 1HM.
5 ) B B J
MOLONW T—
AVIdSia | z
NILYIH NIV M ] LR
- b3
W R
3 X L
T = 5
J k2
ORL J =g
PR - ) =
¥OLCW ¥3M018 o A..\MMM =
><m_um_.m - 22 ’ LHon ~

AVidSia




INTERNATIONAL DISTRIBUTION AND SERVICE CENTERS

BAKERS PRIDE
INTERNATIONAL
30 Pine Street
New Rochelle, NY 10801 USA

+1(914) 576-0200
+1 (914) 576-0605 fax
sales@bakerspride.com
www.bakerspride.com

729 Third Avenue
Dallas, TX 75226 USA
+1(214) 421-7366
+1 (214) 565-0976 fax
info@apwwyott.com

CANADA

Rabco — Steve Vella

4500 Sheppard Avenue E.
Unit 9-11 Scarborough

Ontario Canada MIS 3R6

+1(416) 321-5823

+1 (416) 321-5826 fax

sales@rabcofoodservice.com

UNITED KINGDOM | IRELAND
BAKERS PRIDE Europe — Tim White
Wealden Est Farningham Rd
Crowborough, E. Sussex, TN6 2JR
United Kingdom

+44 (1892) 667 311
+44 (1892) 667 322 fax
info@bakerspride.co.uk

ASIA | AFRICA/ ME | CARIBBEAN
| MEXICO [ LATIN AMERICA
Dorian Drake International
2 Gannett Drive
White Plains, NY 10604 USA

+1(914) 697-9800

+1(914) 697-9190 fax
export@doriandrake.com

www.doriandrake.com

JAPAN
Niwa Shoji Kaisha - Proserv — Akio Matsunaga
3-4-26, Tsukamoto
Yodogawa-ku, Osaka, 532-0026
Japan
+81 (6) 6307 7471
+81 (6) 6307 9181 fax
nori@pro-niwa.jp

FRANCE
SCAL — Jacques Merran
20 Ave de la Baltique
Za Courtaboeuf 1
Courtaboeuf Cedex 91958
France
+33 (1) 6982 8585
+33 (1) 6982 8599 fax
www.scal.fr

RUSSIA

Perfi, Ltd. — Dmitri Slavin

22 Marksistskaya Street

Moscow, Russia 109147
+7(095) 912 4100

+7(095) 913 3553 fax
dmslavin@hotmail.com

NETHERLANDS
Wisselaar Fast Food & Systeemgastronomie B.V.
— Jankees Rovers
Nijverheidsweg 41
3341 1J, Hendrik Ido Ambacht

The Netherlands

+31(78) 683 3833

+31 (78) 683-3830 fax
www.wisselaar.nl

GERMANY

FEM Food Equipment Mktg — Horst Herbert
Fuchshaldeweg 37
D-77654 Offenburg, Germany
+49 (781) 32077
+49 (781) 42365 fax
fem.gmbh@t-online.de
www.femgmbh.com

GREECE

Heinami S. A. — Thanos Georgacopoulos
87 Alimou Avenue
17455 Alimos, Greece
+30 (210) 99 66 040
+30 (210) 99 66 047 fax
sales@heinami.gr
www.heinami.gr

DENMARK

FiBeMa Catering Udstyr Aps.
Kodboderne 18, Kodbyen
1714 Copenhagen, Denmark
+45(33) 213370
+45 (31) 21 10 30 fax
mail@fibema.dk
www.fibema.dk

NORWAY

Einar Riise & Son — Svein Riise
Enebakkveien 64C
Oslo 6, Norway
+47 (2) 208 3300
+47 (2) 219 0317 fax
svein@riise.no
www.riise.no

BAKERS PRIDE OVEN CO.,, INC.

(914) 576-0200 Phone
(914) 576-0605 Fax

30 Pine Street
New Rochelle, NY 10801
(800) 431-2745 US & Canada
www.bakerspride.com Web Address

16



